24 soda drink cans is used to form a Circumference of a circle, how many cans is
needed to fill area of the circle (including the 24 of can Circumference of the circle
formed)? What about 23 cans Circumference of a circle?

Solution:

right angle

R — radius of circle
r - radius of can

L — length of circle.
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To fill area of circle we need %— 12 cans, because 12 = % and 24 is used to form a

Circumference of a circle.

S — area of circle, s — area of circle of can.
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From the figure we seethat —=r——->r =—and R = —. So
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To fill area we need 36-12=24 cans.

Answer: 24 cans.
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